ELZAKI TRANSFORMATION OF SOME SIGNIFICANT INFINITE POWER SERIES

Dr. Dinesh Verma

Associate Professor Yogananda College of Engineering & Technology, Jammu

ABSTRACT

In Mathematics, a power series in one variable is an infinite series. In this paper, we will find the Elzaki Transformation of some power series. The purpose of paper is to prove the applicability of Elzaki transform to some significant infinite power series.

Keywords: Elzaki transformation, power series.

1. INTRODUCTION

Elzaki transformation is a mathematical tool used to obtain the solutions of differential equations without finding their general solutions. It has applications in nearly all engineering disciplines [1, 2, 3,]. It also comes out to be very effective tool to find the Elzaki Transformation of some power series. In this paper, we present a new approach called Elzaki transform approach to find the Elzaki Transformation of some power series.

2. BASIC DEFINITIONS

2.1 Elzaki Transform

If the function h(y), $y \ge 0$ is having an exponential order and is a piecewise continuous function on any interval, then the Elzaki transform of h(y) is given by

$$E\{h(z)\} = \overline{h}(p) = p \int_0^\infty e^{-\frac{z}{p}} h(y) dy.$$

The Elzaki Transform [1, 2, 3,] of some of the functions are given by

, where
$$n = 0,1,2,...$$

•
$$E\{z^n\} = n! p^{n+2}$$

•
$$E\{e^{az}\} = \frac{p^2}{1-ap}$$

$$\bullet \quad E\left\{\sin az\right\} = \frac{ap^3}{1+a^2p^2}$$

•
$$E\{e^{az}\} = \frac{p^2}{1-ap}$$
,
• $E\{sinaz\} = \frac{ap^3}{1+a^2p^2}$,
• $E\{cosaz\} = \frac{ap^2}{1+a^2p^2}$,
• $E\{sinhaz\} = \frac{ap^3}{1-a^2p^2}$

•
$$E \{ sinhaz \} = \frac{ap^3}{1-a^2p^2}$$

•
$$E \{ coshaz \} = \frac{ap^2}{1 - a^2p^2}$$

2.2 Inverse Elzaki Transform

The Inverse Elzaki Transform of some of the functions are given by

$$\begin{split} \bullet \quad & E^{\text{-1}}\{p^n\} = \frac{z^{n-2}}{(n-2)!} \;\; \text{, } n = 2, 3, 4 \ldots \\ & \bullet \quad & E^{\text{-1}}\{\frac{p^2}{1-ap}\} = e^{az} \end{split}$$

•
$$E^{-1}\left\{\frac{p^3}{1+a^2p^2}\right\} = \frac{1}{a}\sin az$$

•
$$E^{-1}\left\{\frac{p^2}{1+a^2p^2}\right\} = \frac{1}{a}\cos az$$

•
$$E^{-1}\left\{\frac{p^3}{1-a^2p^2}\right\} = \frac{1}{a}\sin haz$$

•
$$E^{-1}\left\{\frac{p^3}{1+a^2p^2}\right\} = \frac{1}{a}\sin az$$

• $E^{-1}\left\{\frac{p^2}{1+a^2p^2}\right\} = \frac{1}{a}\cos az$
• $E^{-1}\left\{\frac{p^3}{1-a^2p^2}\right\} = \frac{1}{a}\sin haz$
• $E^{-1}\left\{\frac{p^2}{1-a^2p^2}\right\} = \frac{1}{a}\cos haz$

2.3 Power series [4, 5, 6,]:

$$\sum_{n=0}^{\infty} b_n z^n = b_0 + b_1 z + b_2 z^2 + \dots + b_n z^n$$

2.4 Maclaurin series [4, 5, 6,]:

$$y = \sum_{n=0}^{\infty} \frac{y^{(n)}}{n!} z^n = y_0 + \frac{y_0'}{1!} z + \frac{y_0''}{2!} z^2 + \frac{y_0'''}{2!} z^3 \dots \dots$$

3. METHODOLOGY

3.1 Elzaki Transformation of Geometric Series later than the expanding to power series appearance [4, 5, 6,]:

$$\frac{1}{1-z} = \sum_{n=0}^{\infty} z^n = f(z)$$

$$E\{f(z)\} = E\left\{\sum_{n=0}^{\infty} z^n\right\}$$

$$= p \int_0^{\infty} e^{-\frac{z}{p}} \sum_{n=0}^{\infty} z^n dz$$

$$= \sum_{n=0}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} z^n dz$$

$$= \sum_{n=0}^{\infty} E\{z^n\}$$

$$= \sum_{n=0}^{\infty} n! p^{n+2}$$
Hence,
$$E\{f(z)\} = \sum_{n=0}^{\infty} n! p^{n+2}$$



 $E\{f(z)\} = \sum_{n=0}^{\infty} n! p^{n+2}$

3.2 Elzaki Transformation of the Power series expansion of e^z later than the expanding to power series appearance [4, 5, 6,]:

$$e^{z} = \sum_{n=0}^{\infty} \frac{z^{n}}{n!} = f(z)$$

$$E\{f(z)\} = E\left\{\sum_{n=0}^{\infty} \frac{z^{n}}{n!}\right\}$$

$$= p \int_{0}^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{z^{n}}{n!}\right\} dz$$

$$\begin{split} &= \sum_{n=0}^{\infty} p \int_{0}^{\infty} e^{-\frac{z}{p}} \frac{z^{n}}{n!} dz \\ &= \sum_{n=0}^{\infty} \frac{1}{n!} \left[p \int_{0}^{\infty} e^{-\frac{z}{p}} z^{n} dz \right] \\ &= \sum_{n=0}^{\infty} \frac{1}{n!} E\{z^{n}\} = \sum_{n=0}^{\infty} \frac{1}{n!} . \, n! \, p^{n+2} \end{split}$$
 Hence,
$$E\{f(z)\} = \sum_{n=0}^{\infty} p^{n+2}$$

3.3 Elzaki Transformation of the Power series expansion of log(1+z) later than the expanding to power series appearance [4, 5, 6,]:

$$\begin{split} \log(1+z) &= \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} z^n = f(z) \\ &= \{f(z)\} = E\left\{\sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} z^n\right\} \\ &= p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} z^n\right\} dz \\ &= \sum_{n=1}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} \frac{(-1)^{n+1}}{n} z^n dz \\ &= \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} \left[p \int_0^{\infty} e^{-\frac{z}{p}} z^n dz\right] \\ &= \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} E\{z^n\} \\ &= \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} n! \, p^{n+2} \\ &= \sum_{n=1}^{\infty} (-1)^{n+1} (n-1)! \, p^{n+2} \\ &= \operatorname{Hence}, \\ E\left\{f(z)\right\} &= \sum_{n=1}^{\infty} (-1)^{n+1} (n-1)! \, p^{n+2} \end{split}$$

3.4 Elzaki Transformation of the Power series expansion of log(1+z) later than the expanding to power series appearance [4, 5, 6,]:

$$\begin{aligned} \log(1+z) &= \sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} z^n = f(z) \\ &E\{f(z)\} = E\left\{\sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} z^n\right\} \\ &= p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} z^n\right\} dz \\ &= \sum_{n=1}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} \frac{(-1)^{2n-1}}{n} z^n dz \end{aligned}$$

$$\begin{split} &= \sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} p \int_{0}^{\infty} e^{-\frac{z}{p}} z^{n} dz \\ &= \sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} \; E\{z^{n}\} \\ &= \sum_{n=1}^{\infty} \frac{(-1)^{2n-1}}{n} \; n! \; p^{n+2} \\ &= \sum_{n=1}^{\infty} (-1)^{2n-1} \; (n-1)! \; p^{n+2} \\ &\text{Hence} \; , \\ &E\{f(z)\} = \sum_{n=1}^{\infty} (-1)^{2n-1} \; (n-1)! \; p^{n+2} \end{split}$$

3.5 Elzaki Transformation of the Power series expansion of $\log \frac{(1+z)}{(1-z)}$ later than the expanding to power series appearance[4, 5, 6,]:

$$\log \frac{(1+z)}{(1-z)} = \sum_{\substack{n=1 \ \infty}}^{\infty} \frac{2}{2n-1} z^{2n-1} = f(z)$$

$$E\{f(z)\} = E\left\{\sum_{n=1}^{\infty} \frac{2}{2n-1} z^{2n-1}\right\}$$

let,
$$2n - 1 = m$$

 $2n = m + 1$
 $n = \frac{m+1}{2}$
 $= p \int_0^\infty e^{-\frac{z}{p}} \left\{ \sum_{n=1}^\infty \frac{2}{2n-1} z^{2n-1} \right\} dz$
 $= \sum_{n=1}^\infty p \int_0^\infty e^{-\frac{z}{p}} \frac{2}{2n-1} z^{2n-1} dz$
 $= \sum_{n=1}^\infty \frac{2}{2n-1} \left[p \int_0^\infty e^{-\frac{z}{p}} z^{2n-1} dz \right]$
 $= \sum_{n=1}^\infty \frac{2}{2n-1} E\{z^{2n-1}\}$
 $= \sum_{n=1}^\infty \frac{2}{2n-1} (2n-1)! p^{2n-1+2}$
 $= \sum_{n=1}^\infty 2(2n-2)! p^{2n+1}$
Hence.

3.6 Elzaki Transformation of the Power series expansion of Cosx later than the expanding to power series

$$\cos x = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} z^{2n} = f(z)$$

 $E\{f(z)\} = \sum^{\infty} 4(n-1)! \, p^{2n+1}$

$$\begin{split} & E\{F(z)\} = E\left\{\sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} z^{2n}\right\} \\ & = p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} z^{2n}\right\} dz \\ & = \sum_{n=0}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} \frac{(-1)^n}{2n!} z^{2n} dz \\ & = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} \left[p \int_0^{\infty} e^{-\frac{z}{p}} z^{2n} dz\right] \\ & = t et 2n = u \\ & = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} E\left\{z^u\right\} \\ & = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} u! \, p^{u+2} \\ & = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n!} 2n! \, p^{2n+2} \\ & \text{Hence, } E\{f(t)\} = \sum_{n=0}^{\infty} (-1)^n \, p^{2n+2} \end{split}$$

3.7 Elzaki Transformation of the Power series expansion of Sinx later than the expanding to power series appearance [4, 5, 6,]:

$$\begin{split} &\operatorname{Sinx} = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} z^{2n+1} = f(z) \\ &\operatorname{E}\{f(z)\} = \operatorname{E}\left\{\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} z^{2n+1}\right\} \\ &= p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} z^{2n+1}\right\} dz \\ &= \sum_{n=0}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} \frac{(-1)^n}{(2n+1)!} z^{2n+1} dz \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \left[p \int_0^{\infty} e^{-\frac{z}{p}} z^{2n+1} dz\right] \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \operatorname{E}\left\{z^{2n+1}\right\} \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} (2n+1)! \, p^{2n+1+2} \\ &\operatorname{Hence, E}\{f(t)\} = \sum_{n=0}^{\infty} (-1)^n \, p^{2n+3} \end{split}$$

3.8 Elzaki Transformation of the Power series expansion of Coshx later than the expanding to power series appearance [4, 5, 6,]:

$$Coshx = \sum_{n=0}^{\infty} \frac{1}{2n!} z^{2n} = f(z)$$

$$\begin{split} & E\{f(z)\} = E\left\{\sum_{n=0}^{\infty} \frac{1}{2n!} z^{2n}\right\} \\ & = p \int_{0}^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{1}{2n!} z^{2n}\right\} dz \\ & = \sum_{n=0}^{\infty} p \int_{0}^{\infty} e^{-\frac{z}{p}} \frac{1}{2n!} z^{2n} dz \\ & = \sum_{n=0}^{\infty} \frac{1}{2n!} \left[p \int_{0}^{\infty} e^{-\frac{z}{p}} z^{2n} dz\right] \\ & = \sum_{n=0}^{\infty} \frac{1}{2n!} E\left\{z^{u}\right\} \\ & = \sum_{n=0}^{\infty} \frac{1}{2n!} u! \, p^{u+2} \\ & = \sum_{n=0}^{\infty} \frac{1}{2n!} \, 2n! \, p^{2n+2} \end{split}$$

$$& \text{Hence, } E\{f(t)\} = \sum_{n=0}^{\infty} p^{2n+2}$$

3.9 Elzaki Transformation of the Power series expansion of Sinx later than the expanding to power series appearance [4, 5, 6,]:

$$\begin{aligned} & \text{Sinhx} = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} z^{2n+1} = f(z) \\ & \text{E}\{f(z)\} = E\left\{\sum_{n=0}^{\infty} \frac{1}{(2n+1)!} z^{2n+1}\right\} \\ & = p \int_{0}^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{1}{(2n+1)!} z^{2n+1}\right\} dz \\ & = \sum_{n=0}^{\infty} p \int_{0}^{\infty} e^{-\frac{z}{p}} \frac{1}{(2n+1)!} z^{2n+1} dz \\ & = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} p \int_{0}^{\infty} e^{-\frac{z}{p}} z^{2n+1} dz \\ & = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} E\left\{z^{2n+1}\right\} \\ & = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} (2n+1)! p^{2n+3} \\ & \text{Hence, E}\{f(t)\} = \sum_{n=0}^{\infty} p^{2n+3} \end{aligned}$$

3.10 If f(z)is a power series expansion

at the point b, where b is any constant,

 $b \in R$, Its Taylor'sseries expansion [5,6]is

$$f(z) = \sum_{n=0}^{\infty} b_n (z - b)^n$$

Then, The Elzaki transformation of f(z) is given in the form of power series as

$$\begin{split} & E\{f(z)\} = E\left[\sum_{n=0}^{\infty} b_n \, (z-b)^n\right] \\ & = p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} b_n \, (z-b)^n\right\} dz \\ & = p \sum_{n=0}^{\infty} b_n \int_0^{\infty} e^{-\frac{z}{p}} \{(z-b)^n\} dz \\ & = p \sum_{n=0}^{\infty} b_n \int_0^{\infty} e^{-\frac{u+b}{p}} \{(u)^n\} dz \\ & = p \sum_{n=0}^{\infty} b_n e^{-\frac{b}{p}} \int_0^{\infty} e^{-\frac{u}{p}} \{(u)^n\} dz \\ & = \sum_{n=0}^{\infty} b_n e^{-\frac{b}{p}} \left[p \int_0^{\infty} e^{-\frac{u}{p}} \{(u)^n\} dz \right] \\ & = \sum_{n=0}^{\infty} b_n e^{-\frac{b}{p}} E(u)^n \\ & E \sum_{n=0}^{\infty} b_n \, (z-b)^n = \sum_{n=0}^{\infty} b_n \, e^{-\frac{b}{p}} \, n! \, p^{n+2} \end{split}$$

3.11 If f(z)is a power series expansion

at the point 0, where 0, Its Power

series expansion is [5, 6, 7,]:

$$f(z)=\sum_{n=0}^{\infty}b_{n}\left(z\right) ^{n}$$

Then, The Elzaki transformation of f(z) is given in the form of power series as

$$E\{f(z)\} = E\left[\sum_{n=0}^{\infty} b_n (z)^n\right]$$

$$= p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} b_n (z)^n\right\} dz$$

$$= p \sum_{n=0}^{\infty} b_n \int_0^{\infty} e^{-\frac{z}{p}} \{(z)^n\} dz$$

$$= \sum_{n=0}^{\infty} b_n p \int_0^{\infty} \{(z)^n\} dz$$

$$= \sum_{n=0}^{\infty} b_n E(u)^n$$

$$= \sum_{n=0}^{\infty} b_n n! p^{n+2}$$

3.12 Elzaki Transformation of the Power series expansion of e^{t^2} later than the expanding to power series appearance [5, 6, 7,]:

$$\begin{split} f(z) &= e^{t^2} = \sum_{n=0}^{\infty} \frac{z^{2n}}{n!} \\ E[f(z)] &= p \int_0^{\infty} e^{-\frac{z}{p}} \left\{ \sum_{n=0}^{\infty} \frac{z^{2n}}{n!} \right\} dz \\ &= p \sum_{n=0}^{\infty} \frac{1}{n!} \int_0^{\infty} e^{-\frac{z}{p}} \{(z)^{2n}\} dz \\ &= \sum_{n=0}^{\infty} \frac{1}{n!} \left[p \int_0^{\infty} e^{-\frac{z}{p}} \{(z)^{2n}\} dz \right] \\ &= \sum_{n=0}^{\infty} \frac{1}{n!} E(z)^{2n} \\ &= \sum_{n=0}^{\infty} \frac{1}{n!} 2n! \, p^{2n+2} \end{split}$$

3.13 Elzaki transformation of Convergence Series [4, 5, 6,]:

$$1 + \frac{c+z}{1!} + \frac{(c+2z)^2}{2!} + \frac{(c+3z)^3}{3!} + \cdots$$
$$= \sum_{n=0}^{\infty} \frac{(c+nz)^n}{n!} = f(z)$$

$$\begin{split} &\text{So, E}\{f(z)\} = E\left\{\sum_{n=0}^{\infty} \frac{(c+nz)^n}{n!}\right\} \\ &p \int_0^{\infty} e^{-\frac{z}{p}} \left\{\sum_{n=0}^{\infty} \frac{(c+nz)^n}{n!}\right\} dz \quad , \\ &\text{let } c+nz = t \\ &= \sum_{n=0}^{\infty} p \int_0^{\infty} e^{-\frac{z}{p}} \frac{(c+nz)^n}{n!} dz \\ &= \sum_{n=0}^{\infty} p \int_0^{\infty} e^{-\frac{1}{p} \left(\frac{t-c}{n}\right)} \frac{t^n}{n!} \frac{dt}{n} \\ &= \sum_{n=0}^{\infty} p e^{\frac{c}{np}} \int_0^{\infty} e^{-\frac{1}{p} \left(\frac{t}{n}\right)} \frac{t^n}{n!} \frac{dt}{n} \quad , \quad \text{let } \frac{t}{n} = u \\ &= \sum_{n=0}^{\infty} p e^{\frac{c}{np}} \int_0^{\infty} e^{-\frac{u}{p}} \frac{n^n u^n}{n!} \frac{n du}{n} \\ &= \sum_{n=0}^{\infty} e^{\frac{c}{np}} \frac{n^n}{n!} p \int_0^{\infty} e^{-\frac{u}{p}} u^n du \\ &= \sum_{n=0}^{\infty} e^{\frac{c}{np}} \frac{n^n}{n!} E(u^n) \end{split}$$

Hence.

$$E\left\{\sum_{n=0}^{\infty} \frac{(c+nz)^n}{n!}\right\} = \sum_{n=0}^{\infty} e^{\frac{c}{np}} n^n p^{n+2}$$

Conclusion:

In this paper, we have found the Elzaki Transformation of some power series and it comes out to be very foremost and effective tool to find the Elzaki Transformation of some power series.

References:

- [1] Dinesh Verma, Aftab Alam, Analysis of Simultaneous Differential Equations By Elzaki Transform Approach, Science, Technology And Development Volume Ix Issue I January 2020.
- [2] Sunil Shrivastava, Introduction of Laplace Transform and Elzaki Transform with Application (Electrical Circuits), International Research Journal of Engineering and Technology (IRJET), volume 05 Issue 02, Feb-2018.
- [3] Tarig M. Elzaki, Salih M. Elzaki and Elsayed Elnour, On the new integral transform Elzaki transform fundamental properties investigations and applications, global journal of mathematical sciences: Theory and Practical, volume 4, number 1(2012).
- [4] Dinesh Verma and Rohit Gupta, Laplace Transformation approach to infinite series, International Journal of Advance and Innovative Research, Volume 6, Issue 2 (XXXIII): April June, 2019.
- [5] B.V.Ramana, Higher Engineering Mathematics.
- [6] Dr. B.S. Grewal, Higher Engineering Mathematics.
- [7] Shiferaw Geremew Gebede, Laplace transform of power series, impact: international journal of research in applied, natural and social sciences (impact: IJRANSS), Issn(p): 2347-4580; Issn (e): 2321-8851, vol. 5, Issue 3, mar 2017, 151-156.

